PRECISION CLUB SYSTEM 



Feb 2024
OPENING STRUCTURE

1C

16+ any shape or 14+ 5/5 majors 
1D

10-15    any unbalanced 2 or 3 suiter without 5+major, can 



  have no diamonds
1H

10-15    5+ hearts 
1S

10-15    5+ spades

1NT

12-15
 Balanced with no 5card major
2C

10-15   single suited with 6+ clubs but may contain exactly 



 4 diamonds
2D

10-15   6+ diamonds – single suited
2H

6-10    6 card suit
2S

6-10 
 6 card suit
2NT

9-13    5/5 majors
3x

preempt

3NT

5-8 min of 6/5 in majors 
4C/D/H/S
Natural - long suit - weak
RKCB
=         14 or 03 with spec king ask
1st step denies Q, new suit shows Q and spec K, 

5NT shows Q and 2 K’s or K higher than trump suit
Relay order
Suits

Shortages

Shape
Controls

DCB’s
Control base 
Opener 

1st step 0-3

Responder 
1st step 0-2
Ace = 2   King = 1
A jump to 4D is rkcb in longest suit, 4NT rkcb in next longest
DCB’S

Show Ace, King or Queen



With 6 – cycle twice



With 5 – cycle once



6D is last step in dcb ask.  Showing A,K,Q,J – not 10s
1 CLUB STRUCTURE OVER NEGATIVE RESPONSE OF 
1 DIAMOND (0-7)

1.   1S/2C/2D/2H
=
16-18   5 card suit

     1NT


=
16-18(19) balanced (4441) system on but no GFR
2.  AFTER 1C – 1D – 1H =   19+

     Responder bids:

1S
=
0-4




1NT
=
5-7
5 clubs




2C
=
5-7
balanced – 2D balanced hand relay






Controls are 0,1, flow with 2




2D
=
5-7 
5 hearts




2H
=
5-7
5 spades




2S
=
5-7
5 diamonds




2NT
=
5-7
5/5 any (RELAY)




3x
=
5-7
4-4-4-1 singleton S,H,D,C
Note:  Now in game force – don’t have to accept transfer – can bid own suit

When major transfer accepted – start cues (1st or 2nds. NT shows one of top 3 honors)
When minor transfer accepted (guarantees min 3card support) – bid natural (shape)

3. AFTER 1C – 1D – 1H – 1S -Openers bid of 1NT     =     20-22
    (Stayman, transfers, 2S minor suit stayman, 2NT invite, 3C/D to play)
4. AFTER 1C – 1D – 1H -1S

    Openers rebid of 2C

=
23+

    Responder bids:



2D
= 0-1 or waiting (2-4 balanced)






2H
= 2-4 5+hearts







2S
= 2-4 5+spades






2NT 
= 2-4 5/5 any (3c relay)






3C
= 2-4 5+clubs







3D
= 2-4 5+diamonds
5. AFTER 1C – 1D – 1H – 2NT (5-7 any 5/5)
    3C = RELAY       3D (colour) 3H® - 3S=Reds  3NT=Blacks

       3H (rank)   3S® - 3NT=Minors then 4C/D=slamtry  4H/S to play

   4C=Majors then 4D RKCB in hearts, 4H/S to play           
         4NT RKCB in spades

        3S    (odd) = Hearts and clubs

        3NT (odd) = Spades and diamonds 
6. Keycard responses when showing 5-7
1st step = 0


2nd step = 1 without queen



3rd step = 1 with queen



4th step = 2 without queen

1CLUB STRUCTURE OVER POSITIVE RESPONSES
(majors are crisscrossed)
· Single suited
Note-1H/S shows good suit if 5332
· (1H=4+ spades/1S=4+hearts and denies spades/1nt=bal 5332 shape or a minor 3 suiter or single suited with diamonds/2D=single suited with clubs) – next step relay
2S
=
Even shortage with a 3-card minor or a high shortage

2NT
=
Middle shortage

3C
=
Over a major it shows 7222 or an even shortage with a 3 card 



major.  Over a minor it shows an even shortage with a 3 card



major or a 7222

3D
=
1st step of shape with a low shortage



Major

Minor



5332


3316



6331


3307



7330


2317



7231


3217 (0-2C)



7321 (0-2C)etc
3217 (3C) etc
Examples:

1C
1H
1S(R)
2S
2NT(R)
3C=even shortage with a 3-card minor (6223 or 6232)




3D(R)




3H=C
next step relay for controls



3S=D 0-2 controls   3NT=D with 3 controls etc

2S
2NT(R)
3D=high shortage with 1st step of shape (5233)




3H=2nd step of shape (6133)

3S=3rd step of shape (7033) etc 
next step relay for controls

3C
3D(R)

3H=7222
next step for controls




3S=even shortage with 3-card major (6322) 0-2 controls




3NT=3 controls etc 

1C
2D
2H(R)

2S
2NT(R)
3C=even shortage with a 3-card minor (2236) 





3D(R)





3H=0-2 controls etc
2S
2NT(R)
3D=high shortage with 1st step of shape (1336) etc

3C
3D(R)

3H=3 hearts   


3S=3 spades




3NT=2227 0-2 controls 
4C=2227 3 controls etc

· 2 Suited 
Shapes when 5/4


Shapes when 5/5

5431





5521
6421





5530
7420
        5620
6430 (0-2 controls)


6520 (0-2 controls)
6430 (3 controls) etc


6520 (3 controls) etc
Examples:
1C
1H
1S(R)

1NT = hearts
2C = diamonds
2D = clubs

2H = 4 spades and 5+clubs
1C
1H
1S(R)
1NT
2C
2H = 5 hearts/4 spades
1NT
2C
2S = 5 hearts/5 spades



2NT(R)  3C = high shtge    3D = even shtge
 3H = 1st step of low
1NT
2C
2NT = 4 hearts/5+spades and high shortage

1NT
2C
3C = 5422  3D(R)=relay for controls


4C = 7411   4D(R)=relay for controls

1NT
2C
3D = 1st step of low shortage (5431)

2C
2D
2H = 4 spades/5+ diamonds
2D
2H
2S = 5 spades/5 clubs   2NT = 5 spades/4 clubs and high shtge

1C
1S
1NT(R)

2C
2D
2H = 4 hearts/5+diamonds
2C
2D
2S = 5 hearts/5 diamonds
2C
2D
2NT = longer hearts with 4 diamonds and a high shortage

2D
2H
2S – 5 hearts/5 clubs 2NT(R)  

3C=High shtge
3D=even then 3H(R) 3S=1516 3NT=1615(0-2 controls) etc

3H=1st step of low shtge (2515)


2H = 4 hearts with longer clubs
· 2 Suited minors
2H
=
5+clubs and exactly 4 diamonds
2S
=
At least 5/5 minors
2NT
=
Exactly 4 clubs and 5+diamonds with a high shortage
3C
= 
As above but with and even shortage 2254
3D
=
As above, 1st step of low shortage 
3154

3H
=
As above, 2nd step of low shortage
2164

3S
=
As above, 3rd step of low shortage
2074

3NT
=
As above, 4th step of low shortage
3064 (0-2 controls)

4C
=
1174


etc
Examples:

1C
2H
2S(R)
2NT (high shortage)

3C(R)

3D=1345







3H=1246 etc

1C
2S
2NT(R)
3C (high shortage)

3D(R)

3H=1255







3S=0355







3NT=0256







4C=0265(0-2 controls)







4D=0265(3 controls) etc

· 3 Suited
Shapes
4441

4450

4540

5440 (0-2 controls)

5440 (3 controls) etc

Examples:

Minor 3 suiter
1C
1NT
2C(R)
   
2H=both minors and 4+major


2S(R)

2NT=high shortage  3C(R) steps as below(one step up)




3C=1st step of low shtge
(4144)





3D=2nd step of low shtge
(4045)





3H=3rd step of low shtge
(4054)





3S=4th step of low shtge
(5044) (0-2 controls) etc

Examples:

Major 3 suiter
1C
1H
1S(R)
1NT
2C(R)
   2D=both majors and 4+minor
2H(R)
   2S=high shortage






   2NT=1st step of low shtge   (4441)






   3C=2nd step of low shtge    (4450)






   3D=3rd step of low shtge    (4540)






   3H=4th step of low shtge   (5440) 0-2 controls etc
1 CLUB WITH 1NT RESPONSE
1C
1NT (bal 5332 shape, minor 3 suiter, single suited diamonds)
Note-if showing 5332 in M the suit is weaker than bidding 1H/1S
2C (relay for description)      
Responses:
2D-5332 shape

2H(relay)
2S=clubs 
2NT (relay)
3C=2335 3D=3235 3H=3325(0-2) 3S=3325(3) etc
2NT=diamonds 
3C=hearts

3D=spades 5233  3H=spades 5323  3S=5332 (0-2) 3NT=5332 (3) etc

2H-MINOR 3 SUITER
2S(relay)
2NT=high shortage

3C(relay) steps as below(one step up)
3C=1st step of low shtge
(4144)

3D=2nd step of low shtge
(4045)

3H=3rd step of low shtge
(4054)

3S=4th step of low shtge
(5044) (0-2 controls) etc

2S ETC-SINGLE SUITED DIAMONDS – REFER TO SINGLE SUITED RELAY
1 CLUB WITH 2C RESPONSE
Shows a balanced hand with no 5 card suit

2D (relay for description)

Responses:
2H-COLOUR OR 3334/3343(MINOR)
2S(relay)  
2NT=3334 OR 3343  3C(relay) 3D=clubs 3H=diamonds (0-2) 3S=diamonds (3) etc
3C=2443 3D=4234 3H=4324 3S=3442(0-2) etc
2S-RANK
2NT(relay)
3C= same rank with dbltn Spade/3D dbltn Heart/3H dbltn D 3S dbltn C (0-2)

Next step for controls
2NT-4333/3433(MAJOR)

3C (relay)
3D = 3433  3H=4333 (0-2) etc
3C = ODD with doubleton spade
   Next step for controls
3D = ODD with doubleton heart
   Next step for controls
3H = ODD with doubleton diamond 

3S =  ODD with doubleton club 0-2 controls
etc
1 CLUB REVERSE RELAY

(OVER POSITIVE RESPONSE OF 1H/1S/1NT/2C/2D)
To qualify – responder cannot be a passed hand. Opener must be balanced with no 5 card suit and have 15-18 with 4+controls.
Can be applied up to and including 2D

Cheapest bid is standard relay. Next suit up is reverse relay

1st step 
= COLOUR OR 3334/3343(MINOR)
2nd step 
= RANK
3rd step
= 4333/3433(MAJOR)
4th step
= ODD with doubleton spade
   Next step for controls
 

   ODD with doubleton heart
   Next step for controls
   ODD with doubleton diamond  
 

   ODD with doubleton club 4 controls

System on after 1C ? then positive response by partner but off over any other positional interference.
RESPONSES OVER INTERFERENCE OF 1C OPENING

1C – (X) - ?



Pass
=
0-4






XX
=
5-7 balanced (no 5 card suit)





1D
=
5-7 unbalanced–can be 2335 shape





All other bids = system on
1C – (1D/1H as artificial) System on
(1D) Pass
=
0-4

(1D) X

=
5-7

(1D) 1H

=
8+ with 4+spades

(1D) 1S

=
8+ with 4+hearts

(1H) Pass
=
0-7

(1H) X

=
8+ with 4+spades

(1H)1S

=
8+ with 4+hearts

(1D/1H) 1NT
=
2335shape/minor 3 suiter   or single suited diamonds etc 
1C – System off over all other bids (up to 2S) including 1D/1H if natural 
X
=
5-7 any
Suit
=
8+ game force 5+suit






Cue
=
8+balanced NO HOLD
1NT      =
8+balanced with hold(no 5card suit)
(2C by opener = relay for balanced hand)
Jump to any 3-level suit shows 4441 singleton S,H,D,C and 8+ game force
1C – (2NT or bid at 3 level) - ?
Pass
=
0-7






Suit
=
8+ natural game force






X
=
8+

RESPONSES BY 1C OPENER AFTER INTERFERENCE–when 19+
1C – X - XX – pass – 1H=19+ pass 1S forces 1NT relay for balanced hand 
1C – X – 1D – pass – 1H=19+ pass 1S =5/5 (1NT relay for suits - CRO)




     1NT=C 2C=D 2D=H 2H=S 2S=1444(S) 2NT=4144(H) etc

1C – 1D – X – pass – 1H=19+ pass 1S forces 1NT relay for balanced hand





     1NT=C 2C=D 2D=H 2H=S 2S=5/5 2NT=1444 3C=4144 etc
1C – pass – 1D – 2C – X = 19+ or take out
RESPONSES TO 1D OPENING
1NT = Game force relay.  Applies over X or interference. 
2C = Exactly 4 diamonds and 5 clubs or exactly 4 clubs with 5+ diamonds or any 
         3 suiter
2D = Hearts with longer clubs or 5/5 minors
2H = Spades with longer clubs
2S = Hearts with longer diamonds
2NT = Spades with longer diamonds and high shortage

3C = Spades with longer diamonds and even shortage etc etc

Non forcing replies to 1D (up to 11hcp)
1H 
= natural 4+

1S
= natural 4+.  Opener with 3card supp and minors can bid 2H as H shortage.  Over this responder bids spade level or 2NT for opener to bid longest minor or 3C/D to play.

With 4card supp and shortage then 3C/D/H = splinter

2C/2D
= natural non forcing

2H/2S
= 8 – 11 6 card suit

2NT
= natural invitational (no four-card major)

3C
= weak with at least 4/4 minors

3H/3S
= 7 card suit (preemptive)
Examples:
1D
1NT
2C
2D(R)

2H = any 3 suiter 2S(R) 2NT=spade shtge  3C=heart shtge  3D=diamond shtge 
   3H=4441 3S=4450(0-3) etc
Possible shapes with major shortage= 1444, 0445, 0454(0-3)
Possible shapes with minor shortage= 4441, 4450(0-3)
2S = exactly 4 diamonds & exactly 5 clubs 2NT(R) 3C=1345  3D=2245  3H=3145(o-3) 3S=3145(4)etc
2NT = 5+ diamonds & exactly 4 clubs with high shortage 3C(R) 3D=1354 3H=1264 etc
3C = 2254 3D(R) relay for controls
3D = 5+ diamonds & exactly 4 clubs with 1st step of low shortage (3154) etc

4C = 1174 4D=relay for controls

1D
1NT
2D
2H(R)

2S = 5/5 minors 2NT(R) 3C=high shtge 3D=even shtge (1156 or 11650) 

   3H=1st step of low (2155) 3S=3055, 2056, 2065(0-3) etc
2NT = 4 hearts with longer clubs and high shtge
3C = 2425 - 4 hearts with longer clubs and even shtge  3D=relay for controls
3D = 4 hearts with longer clubs (1st step of low 3415)
4C = 1417  4D=relay for controls

Interference
1d x xx = 4 spades NF

Opener can bid 1H = 1444, bid spades, 1NT = minors or
1d x 1s = 5 spades NF

bids 2C/2d = natural with 4 hearts. Over 1S – 2H shows 3 card supp, heart shortage and both minors. 3C/D/H are splinters with 4 card supp.
1d p/x 1h p/x 1S=4144
1d p/x/1h/1s 1nt = GF relay  

       x = negative 

                   2c/2d = natural NF

       
       Cue = 10-12 no hold and denies other 4 card major


       2nt = 10-12 inv with hold and denies other 4 card major


       3C = minors preemptive

1d 2h/2s 2nt = Lebosohl
              3 level = nat and GF

  X = invite or better
RESPONSES TO 1H/1S
1NT = Game force relay (system on over X or 1s)
All other bids are non-forcing or major raises (Bergen/Drury still apply over opps double or 1s)
Examples:

1H/1S
1NT(R)


2C = 4+ diamonds or a 3 suited hand

2D(R)
2H=3 suiter 2S(R) 2NT=0544 3C=4504 3D=4540(0-3 controls etc)


2S=5/5(hearts and diamonds) then relay for shape



2NT=5+hearts with 4 diamonds and a high shortage etc

2D = (after opening 1H) Clubs 2H(R) 2S=5/5 etc
2D = (after opening 1S) 5/5 spades and clubs or 5 spades and exactly 4 hearts
2H = (after opening 1H) 5+ hearts with 4 spades  
2H = (after opening 1S) 5+ spades with exactly 4 clubs
2S = 1st step of single suit relay even shortage with a 3 card minor or a high shortage etc
Major raises – still apply over X and also over 1H then 1S by opps

· 1H – 2S = 7-10 with a shortage and 4 card support. Next step asks for shortage-High/mid/low.
1H – 3C = 10-12 with 3 card support
       1H – 3D = 8-10 flat with 4 card support

1H – 3H = 0-5   4 card support
       1H – 4H = 0-7   5 card support
· 1S – (AS above – steps start at 3C) 
DURING COMPETITIVE BIDDING EG: 
Over interference, cue to show trump support-invitational or better.
1H 
1S
2H
2S
X=game try or 3H=competing only
Long suit trials (new suit)
Interference at 2 level

2 level bids are nat NF, 3 level bids are nat GF, 2NT = lebonsohl, X invite or better

TWO WAY REVERSE DRURY – still applies if opps X or bid 1S over 1H
In response to partners 1Major opening in 3rd/4th position.  
2C = Shows 3 card support and 9-11 HCP.  Opener replies 2D if max and return to opening suit if minimum.  Over 2D, responder can bid agreed major if min, 2NT max with balanced shape, new suit as a shortage.
2D = Shows 4 card support and 9-11 HCP.  Opener returns to trump suit if minimum or can bid shortage max or NT balanced max.

RESPONSES TO OPENING 1NT (12-15)
(only when not a passed hand or after a 1NT overcall)
2C


=
stayman or game force relay or game force smollen
2D


=
transfer to hearts

2H


=
transfer to spades

2S


= 
rangefinder or weak both minors
2NT


=
invite with 4 hearts
3C/3D


=
weak (to play)

4C/4D


=
transfer to tied major – weak
4H/S
= 
natural to play - weak
4NT
=
Quant

Transfer and raise 
=
invitational 6 card suit

Transfer and new suit   =
new suit minor=inv with a shortage somewhere or bid 




2NT inv with 5242 shape

Stayman and new suit =
NF Shows major or other major and longer minor(weak)
Super Accepts 
= 
new suit shows 4 card support/max with non-working 





dbltn in suit bid (Jx or worse) 




=
2NT shows 3 card support with 2 of top 3 max or 4+ max


=
jump in transfer suit shows 4 card support and minimum 

Invitational with Majors

1nt  2c  2d  3d=inv with 5/5 majors

1nt  2d  2h  2s=inv with 5 hearts and 4 spades

1nt  2h  2s  3h=inv with 5 spades and 4 hearts

GAME FORCE RELAY

 After 1nt – 2(:


2nt = min ( 3( shows both minors weak, pass or correct


3( = max with ( longer or better minor


3( = max with ( longer or better minor

After 1nt - 2( - 2(:
2( = weak both majors

2( = relay

2nt = invite


3( = weak with 4M, to play
After 1nt - 2( - 2(:
2( = relay

2nt = invite (with 4()

3m = weak, 5+m, 4(
After 1nt – 2( - 2(:


2nt = relay


3m = weak, 5+m, 4(

3( = 4(, invite
 1NT game force relay examples
1nt  2c  2d  2s(R)
2nt=4+C  3c(R)  3d =3334 





       3h=2335





       3s=3235





       3nt=3325 with 0-3 controls etc


3c=both minors 3d(R)  3h=2344






        3s=3244    0-3 controls





        3nt=3244  4 controls etc



3d=3343 then relay for controls



3h=2353 then relay for controls



3s=3253 then relay for controls



3nt=3352 with 0-3 controls

1nt 2c 2h 2s(R)
2nt=spades  3c(R)  3d=4423






 3h=4432 0-3 controls






 3s=4432 4 controls etc


3c=clubs then 3d relay for shape/controls etc



3d=3433 then relay for controls



3h=2443 then relay for controls



3s=3442 0-3 controls



3nt=3442 4 controls etc

1nt 2c 2s 2nt(R)
3c=clubs then 3d relay for shape/controls etc


3d=4333 then relay for controls



3h=4243 then relay for controls



3s=4342 0-3 controls



3nt=4342 4 controls etc

RESPONSES TO 1NT (3rd position or 1NT overcall or 1C – 1D – 1NT)
2C


=
stayman  
2D


=
transfer to hearts

2H


=
transfer to spades

2S


= 
minor suit stayman
2NT


=
invite to 3NT
3C/3D


=
weak (to play)

IF THEY DOUBLE Stayman

Pass = no club hold then XX by opener retriggers stayman

2D/2H/2S = normal stayman response with a hold in clubs
IF THEY DOUBLE OUR NT (1NT X) and (1suit-1NT- X)
Pass

=
forces XX-then can pass or bid lowest of touching suits
XX

=
5 card suit - forces a 2C bid (pass or correct)
Suit

= 
lower of un-touching suits
Direct bid of 2H/2S = natural, happy to compete but not enough to leave 1NT X.
Double of 1NT in pass out seat

XX by opener shows 4/4 majors.
Pass and then XX by partner asks to bid 4 card suits up.
Pass and then suit by partner is 5 card suit.
DEFENCE TO OPPOSITION 1NT – Multi Landy (9-14)
	2♣
	both majors (9+ cards) 
	

	2♦
	a single suited major (6+cards) - 2NT is invite in a major              
Responses: 3C=min H   3D=max H   3H=min S    3S=AKQ either    3NT=max S   


	2♥
	5 ♥'s and a minor suit 
	 

	2♠
	5 ♠'s and a minor suit 
	 

	2NT
	both minors (at least 5-5) 
	

	3♣
	♣'s
	 

	3♦
	♦'s
	 

	Double
	Penalties (15+ pts). 


AFTER 2C OPENING BID (6+C usually single suited but may contain 4D)
2D = Game force relay  

2H = 6+ clubs with exactly 4 diamonds then 2S(R)



2NT = high shtge (1246 .. 0247 .. 0346 with 0-3 controls etc)



3C = even shtge (1147 with 3 controls. 1147 with 4 controls etc)



3D = 1st step of low shtge (2146 ..2047 .. 3046 with 0-3 controls etc)
2S = even shortage with a 3-card minor or a high shortage

2NT = Middle shortage
3C = Even shortage with a 3-card major or 2227

         3D(R)
3H=3 hearts




3S=3 spades




3NT=2227 0-3 controls




4C=2227 4 controls etc

3D = 1st step of low shortage
Non forcing replies to 2C

2H
=
5 card suit invitational
2S
=
5 card suit invitational

2NT
=
natural invitational

3C
=
Non invitational

3D
=
6 card suit invitational

4H/S
=
To play

**Interference – 2C P P X 2NT = nat/max.  2C P P 2H/S 2NT=4 diamonds
2c 2d/h/s x = penalties

New suit is forcing for 1 round.
2nt = nat 10-12 with stop
AFTER 2D OPENING BID 
2H = Game force relay      

2S = even shortage with a 3-card minor or a high shortage
2NT = Middle shortage
3C = Even shortage with a 3-card major or 2272

         3D(R)
3H=3 hearts




3S=3 spades




3NT=2272 0-3 controls




4C=2272 4 controls etc

3D = 1st step of low shortage
Non forcing replies to 2D
2S
=
5 card suit invitational

2NT
=
natural invitational

3C
=
6 card suit invitational

3D
=
Non invitational

3H
=
5 card suit invitational

4H/S
=
To play

**Interference    2d 2h/s x = penalties 
   2nt = nat 10-12 with stop

New suit forcing for one round.
AFTER 2H/2S OPENING BID

All new suits non-forcing except 3S over 2H and 3H over 2S which are natural (6+) invitational or 3D which is invitational in bid major.
2NT = forcing enquiry    

RESPONSES:3C = min hcp/min suit


3D = min hcp/max suit


3H = max hcp/min suit


3S = max hcp/max suit
If opps intervene then X is penalties.
AFTER 2NT OPENING BID – system on over X by opps
3C = Game force relay


3D = high shortage


3H = even shortage


        3S(R)
3NT = 5611




4C = 6511 (0-3 controls)




4D = 6511(4 controls) etc


3S = 1st step of low shortage etc
3H/3S invitational
3D=transfer to Hearts to then pass or correct
If opps intervene 3C – x = penalties

3D = transfer to H (to pass/correct or bid 4C/D is good raise in tied          major)
3H/S invite

If opps intervene 3D – x = (stolen bid) transfer to H (to pass/correct or bid 4C/D is good 



 raise in tied major)




3H/S invite
PREEMPTS
Better in 2nd position.   Minors (may be a 6-card suit)
Only over 3C – 3D asks for 3 card major and 3H/S forcing with 6 card suit
Responses – 3H = 3 spades

         3S = 3 hearts

         3NT = no 3-card major

         4C = no 3-card major and unsuitable for NT

         4D = shows 3/3 in majors
Crisscross (attitude keycard) over minor preempt   eg:  3C – 4D or 3D – 4C

And 4C over major preempt.


1st step = 0


2nd step = 1 without queen


3rd step = 1 with queen



4th step = 2 without queen

 If opps intervene over preempt then X is penalties.
RESPONSES TO 3NT OPENING

· 4C – asks for length
    4D - longer hearts 
 4H - longer spades   
4S - 6/6
· 4D - RKCB in hearts
4NT – RKCB in spades
· 4H/S - to play.
MICHAELS (constructive) CRO
Cue = 5/5 same colour
2NT =
5/5 same rank

3C  =  5/5 odd
When opps have bid 2 suits – lower cue = 5/5




          - higher cue shows 5/6




          - with 6/5 bid natural suits
EXCLUSION KEYCARD

Same as normal keycard except swap from 4130 to 3041.
Use of DIPO or RIPO (as responder only) over control ask, keycard or DCB interference.  Double or redouble is always first step then pass then cheapest suit as steps.
Carding – Leads/signals etc

Opening Leads
3rds/5ths   Top of sequence   Top of internal sequence



Ace/Queen = rev att

 King = rev count




Partners suit 3rds/5ths
 Top of doubleton

Current count applies when returning partners lead – some exceptions when unblocking etc for NT’s.  Reverse smith for NT’s only.
Switching

Rev attitude for NT’s
3rds/5ths for suit contracts

Carding on trumps
High/low shows A or K in next highest suit

MUD shows A or K in middle suit

Discards 

1st card is rev attitude then reverse current count 
Competitive bidding etc

Lebensohl responses to partner’s X when forced to bid.
Eg: 1S p 2S x p – Leb applies.
1S x 2S 2NT=minors, X = hearts 8-10ish, 3C/D nat non invite

Cue = inv or better in partner’s suit

1H 1S P 2H = inv or better

1H 1S (P or new suit) 3H = 7-10 4 card support, may have a shortage
Suction (over 1C)
  X :
    Shows diamonds or the majors


  Option to bid 2C to show more distribution.
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:
	
	Shows hearts or the blacks 
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:
	
	Shows spades or the minors
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:
	
	Shows clubs or the reds

	1NT:
	
	Shows untouching suits, either Clubs and Hearts or Diamonds and Spades.
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:


	
	Shows diamonds or the majors (more distribution than X)



Suction (over 1D resp to 1C)
X :
    Shows hearts or the blacks
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:
	
	Shows spades or the minors
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:
	
	Shows clubs or the reds

	1NT:
	
	Shows untouching suits, either Clubs and Hearts or Diamonds and Spades.
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:
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:


	
	Shows diamonds or the majors. 

Shows hearts or blacks (more distribution than X)




Lebensohl (over 1NT & responding to x over 2level bids)

The general scheme is 2 level bids are competitive.
The 3 level is usually forcing. 

And the 3-level cue shows a 4-card major and no stop

1NT – opps bid suit at 2 level.
· X = take out - generally wanting to compete only

· Bid of suit at 2 level – NF

· 2NT – requires opener to bid 3c.  

1. If corrected to a bid at 3 level below opps bid, then this is NF. 

E.g. 1NT – 2S – 2NT – 3C – (3D and 3H is now NF) or 1NT – 2h – 2NT – 3C (now 3D is NF)

2. If 3c is now corrected to 3 of opps suit, then this is now Stayman.  It shows a hold in opps suit and values for game. Eg 1NT – 2S – 2NT – 3c – 3S (shows 4 hearts, a stop in spades and values for game) or 1NT – 2D – 2NT – 3c – 3D (this shows a stop and one or two 4 card majors)

3. If 3c is now corrected to 3NT, it shows a hold in opps suit and values for game.

4. If 3c is corrected to a suit above opps bid, then this shows a five-card major and invitational-does not promise a stop in opps suit. E.g. 1NT – 2D – 2nt – 3c – 3H.

· A direct bid of a suit at the 3 level shows a GF hand with 5+ suit (doesn’t show or deny a stop)

· A direct cue of opps suit denies a hold and is stayman

· A direct bid of 3NT denies a stop and a 4 or 5 card major and shows values for game.
